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Figure 5,13 S-wave cusp in the transmission expenment: (a) The wavefield simulated with the spectral element method,

(b) the wavefield recorded by the laser vibrometer. The solid line is the S-wave time modeled using the inverted
parameters from Figure 5,11 The observed cusp is larger than that predicted by the group-velocity surface
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Figure 5.13 S.wave cusp in the transmission experiment: (a) The wavefield simulated with the spectral element method;
(b) the wavefield recorded by the laser vibrometer. The sclid line is the S-wave time modeled using the inverted
parameters from Figure 5.11. The observed cusp is larger than that predicted by the group-velocity surface.

Even though the thesis is in portrait mode, this figure is in landscape
made and is optimized for viewing on a computer screen — 77
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